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1, opl.cBJF

# include (stdio h)

main( )

{

int x;

X= «34+4%5~6; printf(“x= %d\n”,x);(opl.1)
e 2 e



X=3+4%5—6; printf(*x= %d\n”,x);(0op1,2)
= ~-3%4%—6/5; printf(“x=9%d\n”,x),(0op1.3)

X=(7T+6)%5/2; printf(“x = %d\.n”,x);{opl.4)

}

2. CRRF=PAD

# inclade ¢(stdio h)

main ( )
| int x;

=-3+4%5—63 printf(“x = %d\\n”,X);
X=3+4%5-6; printf(¢x = %d\.n”,x);

X=—3%4%~5/5; printf(“x = %d\n”,x);

X=(7+6)Y%5,/2; printf(“x = %4d\\n”,x);

i: HX PAD ERREEAIRL].

3. WHER
A>opl
x=11 (op1,1)
x=1 (op1.2)
x=0 (0p1.3)
x=1 (op1.4)
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printf R#EXAITNTRE, BRZHE CHERBEEN—B
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opl.l M oiBA

x==-3+4%5-6

x=(-3)+4%5-6
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1. op2,c B

#include ¢stdio h}

# define PRINTX printf(“%d\ n”,x)

main( )

{
int x=2, y, 2;
X ¥$=342; PRINTX; (op2.1)
X% =y=z=4; PRINTX; (op2,2)
X=y= =23 PRINTX; (0op2.3)
x==(y=2); PRINTX; (op2.4)

}

2. CER=PAD

# include (stdio h)

# define PRINTX printf(“%d\n”, x)

main( )

intx=2, y, z;

X % =3+2; PRINTX;

« 8§ o



X% =y=2Z=4; PRINTX;

X=y= =23 PRINTX;
x==(y=2); PRINTX;
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# define PRINTX printf(“%d\n”,x)
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\n”,x) B sFd PRINTX g E k. XEREEEX
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fEi A FALSE 5 0 #73R.

Z.REPQE

(—) THACHAEF LI ZLEE?

1, OPsa.c# R

# include <(stdio h)

# define PRINT(int) printf(“%d\.n”,int)

main( )

{

intx, y, z;

X=2;3 y=13 2=03

x=x && y|lz; PRINT(x); (op3a,l)
PRINT (x}}1y&&z); (op3a,2)
X=y=1;

Z2=X+ + —1; PRINT(x); PRINT(2); (op3a.,3)

Z+ =—-x++ + + +y;PRINT(x); PRINT(z); (op3a,d) -
Z=X/+ + X3 PRINT(z); (op3a,5)
}

2. CEF=PAD

#include ¢stdio h)

# define PRINT (int) printf(“%d\ n”,int)

main( )

¢

int x,y, z

X=23 y=13 Z2=03
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